Rt @ws FRpLRsdr 2 {82 REFEEY

Jui

n2L
Y 2y A8
PEAREINTEG Y 2P EERETUE
PEARIBELY 1B EEREPIB UGS

PEARIBEIY 6P EEREPESIUE

\
h—l

\\<x~
=
=
&

PR 109E5 6P EEREPED
vPEIAEIINOE]Y I2P EERETL

\

=
5
&

=y

PEIAEIIIELS Y AP EEREETB TS

vs,v ﬁfﬁj? 4 J{g‘»xaﬁ‘? * 2 %‘fna li 32 f‘;i??‘f*i‘ > v 7 ;Hg
’ ;}‘3-;1 kj‘;‘l_% o

PER R AR EI(E - R4 4E&J££ﬂﬂbwp§
FHREFRIEL 7 LEFRFFAL ﬂ:ﬂ>%ﬁ»
ﬁ?i‘(Dﬂ@k%ﬁﬁi‘(@ﬁwﬁﬁﬁiﬂﬁw%ﬁA
1A (DF ARG TEF LT LFE O RELAEE
B)AFEERFFAFTREERTISFBF EHFL
(DFIR Y REEFRFPLEY -2 REFL ~REAE S
BTz B4 03 gHIEREE D IE BAA D

N - AR A
(-)EY»5 &

Lote i p B~ B2 B Y S if 2 HEF Y reit L8
o LRI ] BME R 2 BV RAGEL > B RS- fE
EAGFLe £ 2,500 % LEEEEY 28 L LR -

Zéigyﬁ@wg%ﬁﬁﬁﬁ%ﬁaiﬁﬁgﬁB%’i%
WEARBE A B AT Y~ S TASR ~ BE e
EoRCRLEE EEY R AR I T ERTHKT2ZEY PR
HEY g E D FE 200 A AR Y 4o
ZL R E A R £ 6,000~ RiEFFY
154 & 2AEFHFELE2B Y 52 RA -

oy

S



EPEE FTEY S YD F3E SN S ENCDERTS
ﬁﬁo

lﬁﬁi L—réﬁﬁpn}ﬁ;}g}biip N FEHFEDH K

NI N RS

’7?/‘;&’

£ 1,000 ~ > =5 E 1040 H ’%ﬁ@ﬁ?z £ 2,000
Al

L o

2. BT i3,

(g% - $8 0 gL T h 1-3 4% 5 B8 £ 2,000

AT 354 F 0 FEEE 45,000 1 5 AT

R B WAV PF' # %R £ 10,000 ~ -

i)

()= FafFih v 3trrap Lo 30%—‘5’;\ @ﬁﬁ’fﬁv{é 3000

7'L4 o

g,lg‘?ﬁp G P v]vé.%ip Pl y & RE | ,fig}\/‘;gg)ﬁvf

DO
(=)

00 ~ ; k& 6,000 =~ -
Pz RER A A EE YRR £ P10, 000

|

Teth & T A T

(Z)wBaEIHH -
(Z) S5 rE TG 2 AP FH 2P 2

()Y 3% o

’5‘%‘34@12‘ ]’Q#’%B%»II\E"‘:L&&;E' %“ﬁﬁ‘;vlj,%"

Eﬁﬁﬁﬁﬁyﬁéiﬁﬁﬁﬁ%&&~€&£§ﬁ

L o

U ER R ER(EENDL T 210 FRADERDY -
=
A

‘“ﬂfx&
=

o

SN AP EERRRLRT IR IELERE SRR B ko H

REBERLBIE ARG AL GG A

AR R EFREPAET Y B E R o



